| total events O=anylnput 8=anyAccept | Entries 1072
2.063

2.851

Mean

{RMS

..........................................................

2 3 4 5 6 7 8 9
Input: 1=btow, 2=etaw  Accept: 4=onelet, 5=diJet, 6=rnd

| L2 time used per input event

Entries 3

45000
<
4000
(0]

>
35000
30000f—
25000
20000~
15000
10000

5000

0

Mean

RMS

95134
54.87

7.373

100 150 200 250 300 350

400

x: time (CPU kTics)

809
103.5
49.22

rate of input events Entries

Mean
RMS

W
a1

w
o

y: rate (Hz)

N
¢

N
o

15

10

1500 2000 2500
X: time in this run (seconds)

1000

4ccpet rate blue:monoJet, red:diJet, black:randon1 Entries 17
’E\ : Mean 66.18
o IJRMS  49.22
®  parnrinhnbn o
> USROS SO

10"
10°
1000 1500 2000 2500

X: time in this run (seconds)




0.6 E—.............. . . e e l......... eesssssamaaan
0.4 E—.............. e e eesasamaa eesssssamaaan

x: BTOW softiD.

BTOW tower, Et>2.0 GeV (input)

°
>

g
@
g
2
g
54

BTOW tower, Et>2.0 GeV (input)

To0T

N4
IS

x: BTOW softiD.

BTOW tower, £t>2.0 GeV (input)

T000

BTOW tower, Et>2.0 GeV (input)

0.8 E—-------------- R ------. B i PBENETTEETET B feeeaeeeaaaas
0.6 E—-------------- R HE T Fr T B RN ETET B feeeaeeeaaaas
04 E—-------------- l\ B DI Y O EEEREEEEREEE EERRl K EE N )
w: nuj: ~E ~J: AT

X: BTOW softiD.



2

05

e

oq.

2

5

crate=2"

05

5

crate=3"

05

IIIIIJ

P

2

crate=5"

05

0

[ A

o
| N,

crate=6"

1

05

°
@

beoae -




BTOW tower, Et>2.0 GeV (input)

Entries

16

N
o

R~sector
o
o

y; phi bi

o

60

20

.B TOW-East

.B TOW-West

................................................................
...............................................................

...............................................................

0 5

10

15

2

O 25 30 35
X: eta bin, [-1,+1]

40

ETOW

Entries

r
D
o

y: phi bin ~secto

o
o
T T T T T T

O-IIIIIIIIIIIIIIIIIIIIIII

2 R A S S S
S S S S

20------- Beeeeens feeoenes PP PO PPPINE ST

T S S S

0 2 4 6 8 10

12

x: 12 - Endcap etaBin ,[+1,+2]

2.5

1.5




Et Jetl-Jet2 (input) | Entries 809 |d|Jet1 eta- phi (input)] Entries 809

BTOW-West| Endcap

> 12 . . . . . i} OW-EZ
() - : : : : : o)
O] : : 3]
o b
«~ 10 t 25
T L =
- o
> 20
15— A """ R
10 ASSORR SOV OO v st Sy S
5 ........................
0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl Et/GeV x: iEta [-1,+2]
diJet phil-phi2 (input Entries 809 leetZ eta hi (input Entries 809
| phil-phi2 (inp )| | bhi (inp s Tow west Endcap
_ 30 9 _ 30 0
o S
o 3}
o 2
U 25 o5
N =
= o
o =
.. >
5 20 20
15 15
10 10
5 5
0 0 0
0 5 10 15 20 25 30 0 2 4 6 8 10 12 14

x: iPhil ~sector X: iEta [-1,+2]



Jet2 Et (input)

102

10

Entries
- Mean
“{RMS

809
2.3
1.331

x: Et (GeV)

Jetl Et (input) Entries 809
Mean 3.819
"|RMS 1.802
50
x: Et (GeV)
| Entries 809
Mean 56.94
-JRMS  40.93
2 ...........
00 200
x: # of towers/event
# ETOW towers>ped+8 (input) | Entries 809
T T Mean 30.36
- RMS 21.47
205 ----------------------------------------------------------------------------
Gy 1 | S | | A | A B N | 1 | A 1 -
10—
[
OO_IIIlll()lIII2I0IIII3IOIIII4I0IIIISIOIIIIG(I)IIIINI)I 80 90 100

x: # of towers/event

60

Entries

; Mean
TIRMS

809

24.23

11.19

60
x: Et (GeV)




one-Jet Et (accepted) |

Entries

17

one-Jet eta-phi (accepted)

T I . —

.........................................................................

..................................................................

1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1
30 40 50 60
X: jet Et (GeV)

30

Entries

BTOW-East

.........................

y: iPhi ~sector

20

.........................

15

10

.........................

D TUYV

Endcap

.............................

Olllilllil
2 4

o

6 8

10

12 14
x: iEta [-1,+2]

Entries

[T
S -
N |
I .—

17

one-Jet eta (accepted) |

o

5 10 15

30

x: iPhi ~sector

17

.

—2.5

0.5

Entries

17

5

...........................................

(@]

..................................

o

2 4 6 8

12 14

x: iEta [-1,+2]



|Et of Jetl vs. Jet2 (accepted)]

Entries

s 12

Jet2/Ge

10

10

12

x: Jetl/GeV

120

|d|Jet1 eta-phi (accepted)
30 BTOW-Easi[ T

est‘

E

Endcap

Entries

y: iPhi ~sector

...........................................................

15

10

.........................

.........

OIIIIIIIiIIIIIIIIII

0 2 4 6 8 10 12

14

x: iEta [-1,+2]

|diJet phil-phi2 (accepted)]
30

R .
T ——
e = -'-'-:" ______________
A=

10

0 1 1 1 1 i 1 11 1 i 1

Entries

0 5 10 25

30

x: iPhil ~sector

120

4

3.5

|d|Jet2 eta-phi (accepted)|

West|

Entries

Endcap

30— BTOW-East] DToW

N
(&2}

y: iPhi ~sector

20

15

120

120

4

3.5

15

0.5

10 12

o

14

X: iEta [-1,+2]



|diJet Et

(accepted) |

102

10

Entries

.................................................................................

5
2

—IMean

NIV

120
.958
.705

--- Low

. [—High Etjet

Et jet

12

10

40 50 60

x: Et (GeV)

|diJet eta (accepted) |

25

20

15

10

Entries 120

Mean 9.358

- RMS  3.267
F L o —High Etjet | | i

C --- Low Et jet

S e o o e

I —

C : i :

—f T e R R ERE S

L P : :

_—l 1 I 1 1 -I- 4 I 1 1 1 I 1 1 1 i 1 1 1 i 1 1 1 1

6

Entries

—|Mean
:|IRMS

120
17.4

8.571

...................................

--- Low

—High Et jet

Et jet

Homowme----

10

30
x: iPhi ~sector

8

7

8

10 12 14

x: i Eta[-1,+2]

Entries 120

.......

....................................................

26.57
12.58

Mean
RMS

20

30

40

50 60
x: delta zeta (rad*10)



|diJet delZeta vs. etal (accepted) | Entries 120 |diJet eta2 vs. etal (accepted)] Entries 120
Mean x  9.358 | Endca;meanx 9.358
s F Meany 26.57 = [ : : BTQV\/ : eany  8.642
T B0 | E SRR e S AR U
o H - . . . .
gL 35 O I
F 3
o 50f- ; 8 qpp—eehe
s b | i
© B 3
Z 1
° 40_— —2.5
= |
30[— 2
- - e 0
20_—
C Il """"""""""""""""""
10
: 0.5 2w B VT B i RORSSSeeees
O_I 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 i 1 O 0 1 1 1 i 1 1 1 i 1 1 1 i 1 1 1 1 1 1 i 1 1 1 i 1
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]
diJet delZeta vs. avrPhi (accepted Entries 120 total Et diJet (accepted Entries 120
| Mean x  16.17
~ M
S Y 2es7 . b Mean 3595
5
©
. 125 6 oo e e
T
N
]
% —2 o i o R o R o R LR TR R R R R R T
o
C
4 ...........................
i
e L
—1
2 L
PO SO TS SO PO POOS ST TP SOPOT 0.5 . L
1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O 0 i H 1
b 5 10 15 20 25 30 0 50 60

x: (iphil+iphi2)/2 (12 deg/bin)

X:

Et (GeV)



